Process Engineering

Material Control

Component Serial No. | MQTM203 | Parts available
Kit submitted by: | Sherry Baketz | x4806 | Verified by: | Marsha Schmidt @
Fermi ID No. | 15714 | Fermi ID No. | 4223 |
Date submitted: | 19-Dec-11 | Date submitted to stockroom: 12/21/2011
Need date: | 21-Dec-11 | Parts issued _
Deliver to: | IB#2 | Issued by: M |
Use with Traveler No. | TR-464041 | Fermi ID No. | /535/N |
Job No. Date issued: [,2.2/- 2011 | -
M&S task number: | 425 | 2.0.1.1.17 | Parts received by E&F: [+ f=4/7 (<1 |
Drawing Title: I Main Accelerator Trim Quadrupole Magnet Assembly I Fermi ID No. }03)_ I
Drawing No. | ME-351349 | Rev.E | Date received by E&F: | | . ﬂzf // ]
o Dwg .. | Quantity : Quantity . Routing Form | Spares Number /
Description Sisa Number |Rev| Unit Regiiifad Location I E&F Verified Niifabée ¥ V——
Do Not
1 Upper Core MD 14398 ea i! IB2 Has Issue
Do Not L
2 Lower Core MD 14399 ea 1 IB2 Has Issue
Do Not
3 Coil MD 14401 ea 4 IB2 Has Issue
1247 pcs.
4 Terminal MA 331568 A ea 4 10B7 L{ b 352? ¥
Do Not |
5 Flexible Coil Lead White MA 331535 B ea 2 R9,51,L5 Issue
DoNot |
6 Shrink Tubing-1/4" White MA 351302 ea 2 IB2 Has Issue
Do Not -
7 Flexible Coil Lead Red MA .| 331649 A ea 1 R9,S1,L4| Issue
Do Not =
8 Shrink Tubing-1/4" Red MA 351303 ea 1 IB2 Has Issue
Do Not
9 Flexible Coil Lead Black MA 331650 A ea 1 R9,S1,L4| Issue
DoNot | — | | N
10 Shrink Tubing-1/4" Black MA 351304 ea 1 IB2 Has Issue
46 pcs.
11 Clamp, Cable .375 Hole Dia MA | 331914 ea 2 |tPBiNX] Z He s P




Do Not

___—‘—__"—.
12 Nylon Cable Tie-1/16" to 4" Dia. Range MA 351305 ea 4 IB2 Has Issue
13 Hex Bolt 5/16-18 X 3" MA | 351363 ca 6 16B2 b 707 I B
14 Hex Nut 5/16-18 MA | 351205 ea 6 | tPan | © 1672 312 pes.
342 pes.
15 Plain Washer 5/16 Dia. MA | 351206 ea 12 1501 | |72 Ho 422 B
' 301 pes.
16 Lock Washer 5/16 Dia. MA | 351207 ea 6 15D1 O Fobl5 1 pee
38 pes.
17 SHCS #10-24 X 5" Lg. MA | 351460 ca 2 1o02 | /. Fol52 Pt
3 .
18 #8 Flat Washer SS MA | 351563 oa 2 |teanx| 2 42514 85 pes
8 pes.
19 Key MB | 15190 ea 2 mize | 2 ngb’ pes
. . Big Nok -~ SP84-001300
20| Fiberglass Adhesive Tape .0075 X .5" MA 225104 roll AR IB2 Has Issue
Do Not ) EE—
21 Room Cure Epoxy MA 274696 AR IB2 Has Issue
. . DONet | . 1 SP76-074700
22 Silicone Adhesive RTV-157 MA 318765 tube AR IB2 Has Issue

23




